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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

250 A

200 A

ST AR xS a e 2222222500008
100 /:\ A e !g/

-
1
|
o y H —8— setVI_ETcl
50 o \“ & : —0— setVl _fgRec
¥ VNP S VOOIS B = = | )| I —8—  setVI_WN
. 83 Y ! —o—  siSetVl
| 1 |
0 10 20 30 40 50



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-13 0
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P3-13

AYiE) | EBIAT (FD) | EBE (EH/HK) | XKR EFRF
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23t 2552.0 (8%) 1200.0 32333 %EC: 2080.0, PH: 5.6
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FRV (ml plant-1)
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P3-13_0, Day=44 (2025-05-14)
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P3-13

BriE) | EBIATK (D) | EHE (EH/HK) | XK ERE
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P3-13_0, Day=43 (2025-05-13)
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P3-13

BriE) | EBIATK (7)) | EME (BEH/HK) | XKR ERR
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P3-13_0, Day=42 (2025-05-12)

T e g g g S S B B g
VI, VB®RV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

100 141300 234

50

194 Warning: lcol ['FVI’,

"FVO' ] missing

FRV (ml plant-1)

- 2000

- 1500
7

- 1000

- 500

Warning:

col ["WC1’,

"WC2' ] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

300

200 -

ET (ml/hr/plant)

100 A

ad

| Y g Ep—

]
Bylnit @D44 103:02: ET=993 Fg=1200.0 Ro=150.0

- 2000

- 1000

—_

2

7

21 22

23

o
I
=

%=

%=

i

=
B

5 | A

A

2000

300

200 -

100 A

ET (ml/hr/plant)

ByEt @42 19:07: ET=1494 Fg=1350.0 Ro=nan

—_
N

5

6

7

8

9

10

11

12

13

o—

e—eo e

- 1000

20

21 22

23

]
be

GHER=

%=

%=

ER

%=

%=

%=

A

FA

A

A

A

%=

EXNESS

%=

2000

300

200 -

100 A

ET (ml/hr/plant)

| W Y . .

]
ByWoFv @D44103:02: ET=1187 Fg=1350.0 Ro=201.0

e—o e

o—

- 1000

1.0 A

20

21 22

23

0el B | B 2%

%=

EXNESS

%=

0.6

0.4+

0.2~

0.0

1500 ~

1000

500 -

o | _obs

—e— PPFD_

obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=435, FV0=0 m=495, FV0=0 m=5395, FV0=0

o IE 3801 o wE 3861 o W
31.01 33.4 -
32.5 - i
30. 5 . 33. 2
33.0 -
30.0 - i
32.0 32.8 1
30 - 29.5 ~ 326
31.5 1 4 4
T T T T 29 0 T T T T T T ’ T T T
400 600 800 1000 435 440 445 495 500 505 555 560 565
m=650,m FV0=0 m=730,m FV0=0 m=770,m FV0=0 m=825,m FV0=0
33.5 —®— ME —&— ME 34.04 —®— ME 34.54 —@®— ME
33.0 -
33.0 1 33.5 - 340 -
32.5 -
32.5 1 33.0 1 33.5 4
32.0 -
32.0 1 32.5 1 230
31.5 -
T T T T T T T T T T T T
650 655 660 730 735 740 770 775 780 825 830 835
m=875,m FV0=0 m=925,m FV0=0 m=980,m FV0=0 m
3504 —@— ME 35.251 —@— ME 35.50 1 47 1
35.00 35. 25 - 46 1
34.5 - 34 75 35, 00 45 -
44 -
w0l 34.50 24,75
' 43 -
34.25 -
34. 50 - 47 -
33.5 - 34.00
34. 25 - —o— ME 41 —— MW
T T T 33 75 - T T T T T T T T T T
875 880 885 925 930 935 980 985 990 400 600 800 1000
m=435,m FV0=0 m=495,m FV0=0 m=555,m FV0=0 m=650,m FV0=0
wml —o— wu 46.01 —o— MW 46.54 —@— MW 457 o muw
i 46.0
45.5 46.0 -
43 - 45.0 45.5 1
45.5 -
44.5 - 45. 0 +
42 44.0 1 07 44.5 1
43.5 A 44. 5 44.0 4
41 -
T T T 43.01 T T T 44.0 - T T T 43.5 T T T
435 440 445 495 500 505 555 560 565 650 655 660



45.

44,

44,

43.

43.

42.

42.

m=730, FV0=0

—0—

M_W

T
730

T T
735 740

m=925,m FV0=0

46

45 -

44 -

43 A

—— MW

T
925

T
930 935

m=770, FV0=0

45 A

44

43 -

—0—

M_w

770

T T
775 780

m=980,m FV0=0

47.0 -

46.5

46.0

45.5 -

45.0 -

44.5 A

——

M_W

980

985 990

45.

45.

44,

44.

43.

43.

42.

m=825, FV0=0

—0—

M_W

825

T T
830 835

m=875, FV0=0
—— MW
45 -
44 -
43 -
875 880 885




hour

105

:55

:55

:00

105

125

145

100

80

- 60

- 40

§_

&
%
&
4,
%
)
%
&
N
xe,%_}\
T
Y
%

@f%$
%
%

%

3,



P3-13

BYiE) | GEBIRTIK (D) | EBE (EA/#K) | XS ERE

07:20 288 150.0 el {Ri&e07:20 Bal (REAEESE)
08:15 288 150.0 BE| {Ri&e08:15 Bl (REAEHE)
09:10 288 150.0 S| {Ri&e09:10 Bzh (REERSE)
10:05 288 150.0 el {Ri&e10:05 Bal (REAEESE)
10:55 288 150.0 S| Ri&e10:55 BHal (REAEHSE)
11:55 288 150.0 e Rige11:55 Bz (REAERSE)
13:00 288 150.0 el Rige13:00 Bal (REAEESE)
14:05 288 150.0 | {BRige14:05 B3 (RPERKS)
15:25 288 150.0 BS| 1Ri%e15:25 Bz (GGREMEESE)
16:45 288 150.0 BE| 1Ri%e16:45 Bzh (GREMERESE)
2it]2880.0 (107%) 1500. 0 33 KEC: 2080.0, PH: 5.7

TERRHEBR 2 STEEART (187.0 :

ZRIASERRIERE132.0 ml.

132.0), AlEEHT—@ % XA HS
LoRGERRETC (288) 574 (326. 0) FF, FIREH T & MG EIRS %2 XER

large discrepency for begining water status (223:21.0), set to 223 ml.
FEXRFERIEC (2650.0) 5iZEEC (2000.0) {RER K, 1HHRE

HEEIHECE (2650. 0 vs 3888.0) 1R e
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P3-13
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P3-13_0, Day=40 (2025-05-10)
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